Precalculus Honors
Summer Assignment

2015

Instructions: Complete all ODD numbered problems on a
sepatate sheet of paper. Show all work.
Email Mr. Healy at dhealy@lvhs.org with any questions.
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Rational Exponents and Radical Functions

Pind the Indicated real nth rooi(s) of ¢,

1,on= g, e 8] 3.on=8,4a= 512 Bz B 2458

Evaluate the expression without using a calculator.

4, 36740 5, (4570 s VEIE) T 7.

Solve the equation, Round the resalt to two decimal places witen appropriate,
Bt g g, x* 8= 90 0. (x - 3)° =60 I =40 = 400
Simplify the expression.

yz, 4% 41

1, (45 V5

S g iid
128 18, #2h
4 =354

Write the expression in simplest torm, Assume all variables are positive,

20, Vouaty’ 21 Vigelyls” 22 {5 23. Viea'y® « Voupd
r}f,l,g e g

Let fix) = —x + 4, g(x) = ¥, and hix) = ’1“ Perform the indicated operation and
state the domain.

. s , . . . N - I8y
24, Axd b gl 25, gixy - {0 26, glxy« iy &7, fu
H o i{’ -X
i &

28, flgix) 28, glhixyy 0. Al B, ffixn

Verify that f and gare inverse functions.

12, }?;'A:} w Px o 4, glx) e i\ P 25, f[_‘-; gg;{iﬂ LR e 8’{5&53 ES E?‘J 53

Find the inverse of the function.

34, floy =5y 3 83, fly) =+ 2 6. flxy e %—-xz, Xzl

I

A

37, f o k¥ 2 w20 38, fixi = A9, fa = 5200 4
Graph the function. Then state the domain and range.

D B

40, v = -3y 4ty 2 42, v Y 3
- 3 S k&) ’ I8

i
34,y =2V

T r2 45, fin s ave 46, gla) = =y

Solve the equation. Check vour solution.

EEN , 49, -5V L 10 = 0

52, 740 =

51 VEY -+ 9

54, v~ = ViBx 55, xo= YAy e ! 56,




Exponential and Logarithmic Functions

Graph the function. Staie the domain and range.

. 'S . gy e ) H gt
2, ym =g Foop= e hoy=age

¥
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Simplify the expression.

9 ¢ F et 10, {20M)5 ‘ H. V81e™

Graph the function. State the domain and range.

18, ¥ = 050 M y=d¢ 2 15, y= 1577 ey 18, pe gt
Evaluate the logarithm without using a caleulator.

18, ingﬁ g 149, log, 125

Simplify the expression,
21, 5% 22, 10W8" 23. log, 167 24, 7

Graph the funetion. State the domain and range.

25, p=log. v 26. b= log, , x4 27, y=log,x + 3 28, p=log, e~ e

Expand the expression,

29, log, =5 - 40, l@g

35 b "UA = a2, 'i't}gj_ Y

Condense the expression,

33, log, 20 + dlog, x 34. Jog¥ = 2logy ~Slogy 35, Cf.-?%}'n W0 - 2ln x

Use the change-of-base formula to evaluate the logarithnr,
36. log, 5 37 log, 80 38, log, 100 a9, log, 27

Solve the equation. Check for extrancous solutions.

40, M T gt . 41,
43, In B Men iy - 0 44, log, 30 %+ 23 = 3 A, dog, 0+ 9 o, xow 0

Write an exponential funetdon ¥ = ab*whose ¢ graph passes thr(}ugh the givtﬁu _
potnts,

46, (1, 8102, 8% 4% (3 3548, 12 48‘ &. =), {5, 248 49. 044y (28
Write a power function y = av” whose graph passes through the given points.

50. (2,21 (5, 16} SLO(E 270,06, 432) 0 52, (L4108, 17 B3, U, 36y, (0, e



Rational Functions

The variables ¥ and y vary lnversely, Use the given values (o write an eguation
velating v and p Then find y whenxy = -5,

g - . & S 5 7 SRR ) 8, o
25 52 o 15 IR BT

4 200 85 875 EETEE I S
5 16 R Y- o e T
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Graph the function.
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Trigonometric Ratios and Functions

Let 0 be an acute angle of a right triangle. Find the values ofthe other five
trigonometric functions of 0.

1. sin §= é 2. tan f = 15 3o see =2 o4 cosf = 74’
Solve 5 ABC using the diagram and the given measarements.

B, A=21¢=8 6. = 66% g= 14

7 B=060% =20 B, A= 20 bt

9, A=18¢c=18 10, B= 58 ¢=7 A
Converi the degree measure to radians or the radian measure to degrees.

11, 100° 12, -8 18, 37 14. -2

| e . 4 ]

Find the arc length and area of a sector with the given radius r and central
angle 6.

15, r= 51, 8 =90 . : 16. 7= 2in., 8= 300° 172 r=120m, 0 = &
Sketch the angle, Then find its reference angle,

18. 250° 19, —30° . 20, &7 . 21, M

: B . . 9]
Evaluate the function without using a calenlator,
vy A Py . _ T

22, sin {—606°) 23, ¢5¢ 240° 24, tan 743_ 25, C(JS{;%;; _
Evaluate the expression without using a caleulator. Give your answer in both.
radians and degrees. o o ' o
26. sin"t0 27, cos™H| - i’-;}li 28, cos'3 29, tan™ 1

Solve the equation for A, ,‘
30, sin 0 =025, 90°< 6<180° 31 cos b= 0.9; 270° < 6 < B560% 32, tan §= 2;180% < §c 2'.5-:5.33:E

Solve 2 ABC. (Hint; Some of the “triangles” may have no solution and some
may have two solutions.)

i

38 A=30%a=6.h=7 34, A = 50° (=85 1 = 60 35, B=B6% D= 18, 0= 11 -
Find the area of /s ABCwith thie given side lengths and includ_e& angle,

86, A=35" b= 50, c= 120 37 B=35a=T ¢~ 12 38, C=200a=10h=16 -
Solve 2~ ABC, :

39, a =16, U= 23, 0= 17 40, €= 50% g =12, h=14 M A=B0% br=70=5

4

Find the area of A ABC with the given side lengths.
42, a6 =86,b=3, 0% 4 d 43 a = 14, b= 80, 0= 27 4 a =16, b =16 ¢ = 20




